47

45

43

41

39

37

35

33

31

9

_7

5

3

Rl

19

17

15

13

11

_QR7 36 235 24 33 22 21 20 19 18 17 16 15 14 18 12 11 10 9 8 7 6 656 4 3 2 1

VI—[=T=T=T=T=T=T=T=T=T=T=T=T=T=T=T=T=T=T=T=T=T=T1T=-1T=-1-
\V4
vi-1=1=1=-1=1T=1=-1=1=1=1=1T=1=-1=1=1T=1=1=1=1=1=1=1=1=1-=1-=
\V4
Vi—-[==1=1=1=1T=1=1T=1=1=1=1T=1=1=1=1=1=1=1=1=1=1=1=1=1-=
\V4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
VI 7/ A4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
V1| / A4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
VI / A4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
VI 7/ A4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
V1| / A4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
VI / \4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
VI 7/ \4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
V| / \4

vIi-1=1-= —=1=1=
VI / \Y4

V2 [ —_ = 1T=1=
\V4
vi-1=1=1=-1=1T=1=-1=1=1=1=1T=1=-1=1=1T=1=1=1=1=1=1=1=1=1=1-=
\V4
Vi—-[==1=1=1=1T=1=1T=1=1=1=1T=1=1=1=1=1=1=1=1=1=1=1=1=1-=
\V4

2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 2’4 25 206 K17

Knit on RS rows, purl on WS rows

Purl on RS rows, knit on WS rows

Slip stitch purlwise

K2tog

<N LD A<

Kib

Each square represents a stitch.
Read all odd numbered (WS) rows from left to right, and all even numbered (RS) rows from right to left.
Row 1 is a WS row.
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